
Série uniforme



1 2 3 4 N-1 N

𝑉𝑃 =
𝑃

1 + 𝑖 1
+

𝑃

1 + 𝑖 2
+

𝑃

1 + 𝑖 3
+

𝑃

1 + 𝑖 4
⋯

𝑃

1 + 𝑖 𝑁−1
+

𝑃

1 + 𝑖 𝑁

𝑉𝑃 =
𝑃

1 + 𝑖 1
+

𝑃

1 + 𝑖 2
⋯

𝑃

1 + 𝑖 𝑁
1 − 1 + 𝑖

1 − 1 + 𝑖

𝑉𝑃 =
𝑃

1 + 𝑖 1
+

𝑃

1 + 𝑖 2
⋯

𝑃

1 + 𝑖 𝑁
− 𝑃 −

𝑃

1 + 𝑖 1
⋯

𝑃

1 + 𝑖 𝑁−1

1

−𝑖
=

𝑃

1 + 𝑖 𝑁
− 𝑃

1

−𝑖

𝑉𝑃 =
𝑃

𝑖
1 −

1

1 + 𝑖 𝑁

𝑉𝐹 = 𝑉𝑃 1 + 𝑖 𝑁 =
𝑃

𝑖
1 −

1

1 + 𝑖 𝑁
1 + 𝑖 𝑁 → 𝑉𝐹 =

𝑃

𝑖
1 + 𝑖 𝑁 − 1



1 2 3 4 N-1 N

𝑉𝑃 = 𝑃 +
𝑃

1 + 𝑖 1
+

𝑃

1 + 𝑖 2
+

𝑃

1 + 𝑖 3
+

𝑃

1 + 𝑖 4
⋯

𝑃

1 + 𝑖 𝑁−1

𝑉𝑃 = 𝑃 +
𝑃

1 + 𝑖 1
+

𝑃

1 + 𝑖 2
⋯

𝑃

1 + 𝑖 𝑁−1

1 − 1 + 𝑖

1 − 1 + 𝑖

𝑉𝑃 = 𝑃 +
𝑃

1 + 𝑖 1
+

𝑃

1 + 𝑖 2
⋯

𝑃

1 + 𝑖 𝑁−1
− 𝑃 1 + 𝑖 − 𝑃 −

𝑃

1 + 𝑖 1
⋯

𝑃

1 + 𝑖 𝑁−2
1

−𝑖

𝑉𝑃 =
𝑃

1 + 𝑖 𝑁−1
− 𝑃 1 + 𝑖

1

−𝑖
=
𝑃

𝑖
1 + 𝑖 −

1

1 + 𝑖 𝑁−1
→ 𝑉𝑃 =

𝑃

𝑖

1 + 𝑖 𝑁 − 1

1 + 𝑖 𝑁−1

𝑉𝐹 = 𝑉𝑃 1 + 𝑖 𝑁 =
𝑃

𝑖

1 + 𝑖 𝑁 − 1

1 + 𝑖 𝑁−1
1 + 𝑖 𝑁 → 𝑉𝐹 =

𝑃 1 + 𝑖

𝑖
1 + 𝑖 𝑁 − 1


